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24 - 35VDC= £10%

3A (=9 2 25°C, 9| &% 55%RH 7|Z)
0.5-2A/Phase

& TR 20 ~ 70% (HX| M7 MW ZE2| AQIX 2 )
FLEZ2 HHF =20l

1.8° /AR

1,2, 4,5,8,10,16, 20 28 (1.8° ~ 0.09° / A&))

> 10 s (CW / CCW), 1 ms (HOLD OFF)

50% (CW / CCW)

< 0.5 s (CW / CCW)

[H: 4 - 8 VDC=, [L]: 0 - 0.5 VDC=

4 mA (CW /CCW), 10 mA (HOLD OFF)

<50 kHz (CW / CCW)

300 Q (CW / CCW), 390 Q (HOLD OFF)

T Chxtel #[o|A 2k = 200 MQ (500 VDC= megger)

H Xt} #H[0|A 7k 1,000 VAC~ 50 / 60 HzOf|A 1 22t
£O|= AlZ2[0|E{0f ot Hent O] = (”AZ: 1 ps) = 500 V
10 ~ 55 Hz (F7]122H SXE1.5mm X, Y, Z ZF &k 242+
300 m/s? (= 30 G) X, Y, Z 2} 1i3f 33

0~ 50°C, EZ A1 -10 ~ 60°C (B £ HEE[X| Y2 A)
35~ 85% RH, E& Al: 35 ~ 85% RH (B = 225 X| ¢S A)
CEHI G

~180 g (= 295 g)
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